SOLVING TRIG EQUATIONS

1. Use identities to make sure all angles are the same.

2. If all angles are the same but they are multiple angles, adjust the domain to reflect the multiple.
(For example, if all the angles are 2x, and you're solving on the interval 0 < x <2z, adjust the interval
to 0<2x <4z, which means you want all appropriate angles in 2 full revolutions.

3. Use identities to minimize the number of trig functions, if possible.
4. Rearrange the equation so one side = 0, then factor.
5. In a few cases, you might need to squére both sides.

6. Check, especially if there were denominators or you had to square both sides.

Solve each equation on the interval [0, 27r). Show your work on separate paper.

1) 2cos’ x—5cosx =2 @tanxsinx+23inx=tanx+l
- - (Hint: factor by grouping)

3) sin® x +cos2x—cosx =0 cos2 2x-3=0
@ﬁtanf&xﬂzo 6) 3tan’ x + 4secx = —4

7) cos2xcosx—sin2xsinx =1 8) cos2x+3cosx—-1=0
(Hint: simplify with angle-sum identity)

9 J3cotxsinx+2cos? x =0 sin2 2x —3sin2x+2=0
11) tan®3x =3 tan3x @4tanx+sin2x:0

13) sin4x =cos2x 14) 3tan®2x +4sec2x = -4

Solve for ALL values of x.
)
15) cosxtanx—sin®x =0 16) 3cos2x—5cosx =1

tanx—sinx _secx -1

17) cosx =3cosx—2 18) —% =
tanx +sinx secx+1

sinx + 1 =cosx (Hint: square both sides) @cost cos3x +sin 2xsin 3x = %

(Hint: simplify with angle-sum identity)
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